CS139 Algorithm Development

Exam 2 11/3/2008


What is your name? ______________________________________

Do not look at the questions until you are told you may do so. Answer all questions to the best of your ability. An answer that is unreadable will be marked wrong. 

You may NOT use a calculator on this test/exam. Do not leave any answer in the form of an equation, even expressing the answer as some number to a power, unless the question explicitly indicates you may do so. 

Make sure your test has all 7 single sided pages and a reference page.  Use the backs of pages for scratch work.
	Question
	Description
	Points Possible
	Points Earned

	1
	Warm up
	10
	

	2
	Review
	10
	

	3
	Terminology
	15
	

	4
	Tracing
	10
	

	5
	Loops
	15
	

	6
	Methods/classes
	15
	

	
	
	
	

	
	Total
	75
	


I have not rendered nor received unauthorized assistance in taking this examination.   I will not discuss this exam with anyone in the course that has not yet taken it even those in a different section.

____________________________________________________________________________

Signature

Bonus Bonus Bonus Bonus Bonus Bonus Bonus Bonus Bonus Bonus Bonus Bonus Bonus Bonus Bonus 

Estimate your score (out of 75).  If your score is within 3 points of the final score, earn an additional 3 points.

YOUR ESTIMATE: _______________________/ 75

NOTE:  I have removed a couple of sub-questions in Terminology that pertain to Objects that will not be covered for this exam.  And Question 4 would be replaced with a loop tracing example, and Question 6 would be replaced with a loop writing example.  I will post a couple of more pertinent exercises shortly.

(10 points) Question 1 Warm up– For each question, write on the space to the left the answer that best matches the question.

______1. Key words are

(a)
The data names in your program

(b)
Words that have a special meaning in the programming language

(c)
Symbols or words that perform operations on one or more operands

(d)
Words or names defined by the programmer 

______2. How many times will the body of the following do-while loop be executed?

int x = 11;

do

{

   x = x + 20;

}

while (x <= 100);

(a)
1

(b)
3

(c)
4

(d)
5
______3. True/False No statement outside the method in which a formal parameter is declared can access the parameter by its name.

Justify your answer if necessary __________________________________________________________

______4. What will be returned from the following method?

public static int methodA()

{

double a;

a = 8.5 * 9.5;

return a;

}

(a)
18.0

(b)
18

(c)
8

(d)
This will not compile

______5. True/False  A loop control variable may only be declared inside of the loop structure in which it is used?

Justify your answer if necessary __________________________________________________________
(10 points) Question 2-Review: Fill in the chart below with the result of each of the Java expressions.  Write INVALID in both boxes if there is an invalid expression (one that will not compile).  All decimal calculations should be carried out to 2 places only.  (You should NOT use a calculator for this problem).  Assume all variables have been declared and initialized.

	Expression
	Data Type of result
	Result

	3 / (double) 6
	
	

	(5 % 10) + (int)(10 / 3.0)
	
	

	(boolean)(3 / 6)
	
	

	!( 5 == (( 2 / 1) * 2))
	
	

	((ab == ab) && bc <= bc) && !true
	
	


(15 points) Question 3 Terminology– Using the BaseStatTest class in the reference section of this exam, answer each of the following questions.

a) List all of the primitive data types used in declaration statements in this file: _____________________
b) List all of the reference data types used in declaration statements in this file: ____________________

c) Which line number(s) contain(s) a boolean expression? ________________

d) Which line number(s) contain(s) qualified names? ________________________________

e) What is one of those qualified names? ___________________________

f) Which line number(s) contain(s) a return type of int? ________________________

g) What is one of those return types?  line number: _______ type: ______________

h) Which line number(s) contain(s) a constructor header? _________________

i) Which line number(s) contain(s) a return statement? _____________________

(10 points) Question 4 - Tracing Given the following code which is contained in a main method, what is output if it compiled and ran correctly?  You may assume that this class and BaseStatTest are contained in the same folder.  Suggestion, write down each variable to keep track.  Don’t make assumptions about what the code is doing; follow this code as written.

     BaseStatTest harry;
      BaseStatTest martin;
      int count;
      
      harry = new BaseStatTest();
      martin = new BaseStatTest();
      
      martin.addHit();
      for (count = 0; count < 3; count++)
         harry.addOut();
      
martin.addHit();

      while(count < 5)
      {
         martin.addHit();
         count++;
      }
      harry.addOut();
      martin.addOut();
      harry.addHit();
      
      System.out.println("Martin: " + martin.toString() + "BatAve: " +
   martin.getBatAvg());
      System.out.println("Harry: " + harry + "BatAve: " + harry.getBatAvg());
      System.out.println("Players: " + BaseStatTest.getPlayers());

Write your output here: 

Question 5 (15 points) – Code Loops, write the following loops and answer the final question as specified.

a) Complete this method body.  You must use a while loop in your solution.

/** printNum will print each number in a list from the low number to the high number.  If the low number is higher than the high number, print -1 and end the loop. */
public static int printNum(int low, int high)

{

}

b) Do the same method body as in part a, but this time use a for loop.

public static int printNum(int low, int high)  

{

}

c) For the loop you wrote in part a, circle each of the required parts of a loop and label each with its description.

Question 6 (15 points) Given the class declaration for the BaseStatTest class, choose ONE of the two methods to implement.  See the description for what each of the two methods should do. If you start one method, then choose to do another, be sure to X out the code you do not want me to grade.  If there is code in both sections, I will grade the first one.

Choice A: The non-static compareTo method should take in a single BaseStatTest object as a parameter and will compare its batting average to this batting average.  If this average is higher, return a 1. If they are the same, return 0.  If this average is lower return a -1.

Choice B: Create an overloaded explicit value constructor that accepts two parameters, the hit count and the at bat count.  If the hits are greater than the at bat count, set the corresponding attributes to zero, otherwise, initialize the corresponding attributes to the parameter values. 
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